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Instructions - 1. Check the question paper for fairess of printing. If there is
any lack of fairness, inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline use pencil to
draw diagrams.
Gy 3= Gaewauwrar @)L gHled UL Lb aieny b FLeTUTHIEM 6T TIPS e LD.
Note - Draw diagrams and write equations wherever necessary
ugd — 1/ Part-|
15%1=15
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2. Qer@ssiiu’ L prerg eflewL sefly  BlaEab apyedLW
alewLeows Csibes®ss GPUIL @ el ullemeruo
CFid gl 6TUPSIS.



Note

1.

s - 1. Answer all the questions
2. Choose the most suitable answer from the given four
alternatives and write the option code and the corresponding

answer

Ulssreupeussreupmisir stssraiailener oL iudléss menrflsiy wem 9@ dAnbhs

YPODWTED?
9. CuerenL_L 9,. CamenL_ -
@3). s6Sevrm . Cafl_Lenri

Which one of the following ore is best concentrated by froath — floatation

method?
a) Magnetite b) Haematite
c) Galena d) Cassiterite

2 Goursaillwellev @ersaslwrs LwsTuBn CFiwid?
9. Guirflg giflevib 9,. Gurrréen
@). ev_GuirGresr w. BE,

Which compound is used as flux in metallurgy?

a) Boric acid b) Borax

c) Diborane d) BE

XeOF, &1 augeuid

9. T angeutd <. Lrdl@
@). e s . ssrind@
The shape of XeOF,is

a) T Shaped b) Pyramidal

¢) Square planar d) Square pyramidal



4. 1 Gure sy&eTdls gflvses sfnGarnpid oeLws Qsinug Csmearwrear
gflevd sehs KMnO, Gursvseflsr sraenildens wirg?
9.5 <. 0.6
@.15 m. 0.4
How many moles of acidified KMnO, required to oxidise one mole of oxalic acid?
a)5 b) 0.6 |
c)1.5 d) 0.4

5. [Pt(NH,),Cl, ] ersirn syememrays Gaiwd Qupmisrsr wrhplwibd erg:?
S| S|ememTay rHplwib 9. @ewewriiy wrphiluid
). pafl auppdl wrpPuid . euger wrHBlwId
The type of isomerism exhibited by [Pt(NH,),Cl,] ?
a) coordination isomerism
b) linkage isomerism
c) optical isomerism

d) geometrical isomerism

6. fcc oewifler Cwrse Sar JeTalls) eEWIssTTD YL 55165 ClsmsrariiL@id

sergjsnallsit all#lsib
L PN IRNEL
3. z - 3\/5 & e

The fraction of the total volume occupied by the atoms in a fcc is

L

a.E b. — c.f
6 4 8
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7. 20 sffusss sollwgdler syepreurp smreorn 140 BTLseT eteflsy 280
Brisgéel  dearari 1 g Seaflwwrerg) dstouporg e Serallne

GdM B M G L.

B | —

1 1 1
The half life period of a radioactive element is 140 days. After 280 days 1g of

element will be reduced to which amount of the following?

a. % b. % C. % d. %
8. o151 grud &wrh 9jsLeV?
<. BE, <. PE, 8. Co m. F
Which is not a Lewis base?
a. BE, b. PF, c. CO d F

9. 2A Bleir et Lgems L@aﬂ@ STy GCsrrenr® semraedlsy Cleaisg), 0.2 Gursy
&Serrifleir eurujemey CupiaushE CsemeuriLi@in Gmrid
9. 32.66 Hul b 9. 321.66 Bl i @). 378 gl . 260 Bl _ib
During electrolysis of molten copper chloride, the time required to produce
0.2mole of chlorine gas using a current of 2A is

a. 32.66 min b. 321.66 min C. 378 min  d. 260 min

10. ys» s, STEUEUEDED Fn_LPLOSs &6 Faeh?
9. surwjeflev Hewriorh 2% surwafled euryy
8- arryefled Biiois 7. BTogHed auruy
Smoke is a colloidal solution of
a. Solid in gas b. Gas in gas

c. Liquid in gas d. Gas in liquid



1. 8765 SflewsBler wpeiesflapevufled oGaryGrrieued Querfamer SrHPleTTed
o, 55gGaTHmIDd QEiis T SepLLUiLig)-
9. C;H,COOH <. C,H;COCH,
@). C;H,COCH; w. C,H,0H
Iso propyl benzene on oxidation in presence of air and dilute acid gives
a. C,H,COOH b. C,H;COCH,

c. C,H,COCH, d. C,H,OH

12. 0y — 2 reweur pGsrGaThHmID Qeirg, Zn wHOID B Gasrear® HNereyui_&
QaisTed HlewL LIUG
O] ETHSETEV 9}, YTLILeseV
@). yGrmiiGermesr . QLogSHeeTeL
But — 2 ene on ozonolyis followed by subsequent cleavage with Zn and water
gives

a. ethanal  b. Propanal c. Propanone d. Methanal

13. gjeufleSssr + Questarulley GBearTenr(® _ O, ¢ H,NH-OC-CH, @)b5 aflemeorufl 63t

Ui
o LiflLed — Slyroe aflenerr <. HVZ - aflenesr
@) shoa L6 — LrLoet allenesr . serenla@rm aflenst

Aniline + benzoy! chioride __Neow_, ¢« [ NH-OC-CH;.. This reaction is known as

a) Friedal — craft’s reaction b) HVZ reaction
¢) Schotten — Baumann reaction d) Cannizaro reaction

14.DNA aflév 2_erer LiliflL8lig 67 & T 161G 61T
- L GLrdlesr ioHmILD Sjtg-evflesT
. wgL G e LoHMILD (& 6w 6aT 65T

3. enal_QGLrdfler LLHMILD &wLBlesT



FF. e GLrdler ophmyid wGrdlev
The pyrimidine bases present in DNA are
a) Cytosine and Adenine b) Cytosine and Guanine

c) Cytosine and Thiamine d) Cytosine and Uracil

15. emmevmresr STESMH S 2 STrenTid ?
9. uredlgemio (R 2% Lredlgeir
Q). ured srevvr_i- . umredl #&sem iy (Has i

Nylon is an example of

a) Polyamide b) Polythene
c) Polyester d) Polysaccharide
uggl =11/ Part -1

6%x2=12
TG 2y m) aflermds s més aflenLwelldseyn. aflerr sresr 24 S STy LILIra
aflenL_weflsas Gouaist@Rib.
Answer any six questions.
Question.No. 24 is compuisory.
16.GurGri_ 2_miriemiy & 6WTL_Bleugsh & e Corgenearsows TS 5.7
Write a terst to identify borate radical?
17. ursivursiv Y LE6VS )68 (15 5 STMOUTD FTw LreviSesr SWrilssiu@GAng.
How is pure phosphine prepared from phosphorous acid ?
18. qyuesflwrgen LorHBlWBIS 6T sTETDTEY sTetTsr? BO 2-BTITTSSILsT eflorss @ s,
What are ionisation isomers? Explain with an example
19.Bured w6 ausnas aflemsr STSTDTEY 6T6iTenr? (5 o_Smremrid B(H.
What is pseudo first order reaction? Give one example
20. uryGr_eflsir lsiresrrsh) Lig e e0sr Qradr_rid aflfenwis Fn M.

State Faraday’s second law of electrolysis



21. dleflarrenev STt 9 &CrreSerTs wrhHmiemis?
How will you convert glycerol into acrolein?

22.DNA wpmiup RNA 5@ QoL _CBu o srer Gaumur@sefen TCseb BreTalensr
BB
Give any four differences between DNA and RNA

23. 18 91,8561 20 Gevr iy pf) a5 i Vg el Garhm sTglir il g 6ir uppl Gl
UM . 1
Write short notes on Antioxidants

24.50868 0.05M HNO; , 50 ml 0.025M KOH o . er Coréaiiu@sng,.
Blssemraedisir pH waienu &SeosT(BILilLg..
50ml of 0.05M HNO,is added to 50ml of 0.025M KOH. Calculate the pH of the

resultant solution.

uggl =1l / Part - 1li
6x3=18
TCSEMID o m) oflewrTds emé 3 aflewr_weldsan. eflarr srepr 33&@ sy liurs
oflenL_weflsa Geuan@ib.
Answer any six questions
Question No. 33 is compulsory
25. gygnlesflg et Blsstarrp o Goorsaflwensy aflords 5.
Explain the electro metallurgy of aluminium
26. anf's0lwi g st LWIGT&en6Ts & (5.
Give the uses of helium.
27. 5Cyrenwed &Gerreny (R Cergemersouws aflauf
Explain chromyl chloride Test
28. oigm1 Mlewp 60 gmol! o et w 26 seflwsder ysiy eww SMEFSIT
AVGEm L aflaflivy Fard 4A0 ereflsd oygeir SILTEAlemws e .



29.

30.

31.

32.

33.

34.

A face centred cubic solid of an element (atomic mass 60 gmol-') has a cube
edge of 4A0, Calculate its density.

Craflued Wersasdsr oemwiimu ellafss s Werse elamarmu sups)s.
Describe the construction of Daniel cell and write its cell reaction.

Ao @Bl sewres

i) srglioenn eflenarGeus wrma

i) uflwrhm aflensuydd

Write short notes on

i) Negative catalyst

ii) Phase transfer catalyst

AL TeVIg oM Ig.6iT VL TD GmIdas afleneTullsir suflepenpenws aflau

Explain the mechanism of Aldol condensation of acetaldehyde.

epeurst -6,6, Llyerr — S swrfisseme aflanf.,

Explain the preparation of Nylon — 6,6 and Buna - S.

Spsanr eflmarsefsr euflensullsy A w50 C eueny o smer Qaiwrisemer
e (il
CHNO, —25A 0% ,p 2 5C

HCl 273K
Identify A toC in the following sequence?
CeH;NO, —5—>A T2 B0 ¢

HCl 273K

ugd —IV/Part - IV
Ulsiteumid yewearggi aflsarmd s emd @b aflewn L_weflésEeayib.
Answer all the following questions 5x5=25
Aprisssrs  adory  sumar®  Gugls  swesd  ampul
ST ASSLLGEDS sTetLms afleu)
i) gpGeorr As96 Bt Basaflsir euensassner TOSS15 ST BT aflerds @,
(Sysvevg)

b) i) amrevgmeflen_d Ceiwrissir STETDITEV 6T63Ten ? 6T(NSZ15 ST [BH6T &(H.



i) KMnO, swrilsgsemev afleur]

a) i) Explain how gold ore is leached by cyanide process
ii) Explain the classification of Inosilicates

(OR)

b) i) What are interhalogen compounds? Give examples.

ii) Explain the preparation of KMnO, .

35.a) i) [Fe(CN),J* uryr &rhss SETeDD 2 eOLWS CTHTLMS UGS LS
Qareramsuflears LwSTLHSE allordes.
i) agmi_ ) GewmUT® eTaTHTED 6T6breaT?
(Sysvevg)
b) i) QamesrL_irasr — ,a_n)rrgsburrsbe‘f Fwerum_snL auEeail?

i) Garevrrey allg wrg?

a) i) Explain [Fe(CN),J* is paramagnetic, using Crystal Field theory
ii) What is schottky detect ?

(OR)
b) i) Derive Henderson — Hasselbalch equation

ii) What is kohlraush’s law?

36.a) i) @evi_flenew Cairns Qarearesemw aflouf]
i) misT auig s Lemev uHY GPIIL uEwTE.
(ovevs1)
b) SipseT. rHD RIS 6TeMUTHI Blapdgieumis?

i) 1Perrey ——>  Fredlflevrsigsman(®



i) Feorms LlermrsvrigeSssr

iii) Hewerdsredr — 5 1,4 L wiTeSFeir

a) i) Explain Intermediate compound formation theory
ii) Write short notes on ultra filtration.

(OR)

b) i) How the following conversions are effected?
i) Phenol ——» Salicylaldehyde
ii) Phenol — Phenolphthalein

iif) glycol —— 5 1,4 dioxane

37.2) Ami Py euewrss
) 8B\ sTarTOewTi) eflemsar
i) &rirenLIsy oy1f6r aflenesr |
iii) srNGush sredenio®) OsrELiy eflenes
(Sysbevg:)

b) Solir&GL_mrendlsir Ijewwlients aflaf

a) Write short notes on
i) Mustard oil reactions
ii) Carbylamine reaction
iii) Gabriel pathalimide synthesis
(OR)
b) Explain the structure of Fructose. :
38.a) Dow wsd aens aflmerwrerg 50 Bl dsafs 40% BleopauenL_dmg.
aflewar@eus worpfleSuflsir wglliflewears e _ps. Isuallmear 80% Bermaisni_u

Coemeuwirer srevih eT6u6u6TeYy?



i) Ag,CrO, eir K, wdliiy 1.1x10". 0.1M K,CrO, seresilev Ag,CrO, @)er
SENTH D 6IT 6T65T60T 7
(1sveg1)

b) C,HO eréirm cpevdianmi eumisiur® e eoi_w Gaivd A Lrevsitev srrenfleni
206&%Ingl. A 50% NaOH o er eflmeryfisg CH,O stérm euriiumr®
e Lw B eréim Gaiwgewgup C,H,0, Na ereirm euriiur@ e ewiw C 6T65TD
Carwgemgujd smelmg. Csiwd C Biss HCl o er aﬂmmuni@ C,H,O,e1etrm
D Gsiwsews s58ma1. D g CGarr sawenrrivy 2 et Qautiutiu@ss Gsiwid E
Aeo_sdlpg. A,B,C,D wopid E @& saw@lysg, SDETET aflenesrsener

6T(LDSHI .

a) i) A first order reaction is 40% complete in 50 minutes. Calculate the value of the
rate constant. In what time will the reaction be 80% complete?

iiy K, of Ag,CrO, is 1.1x107">. What is the solubility of Ag,CrO,in 0.1M K,CrO, ?

(OR)

b) Compound A of molecular formula C,H,O reduces Tollen’s reagent when A
reacts with 50% NaOH gives compound B of molecular formula C,H,Oand C of
molecular formula C,H,0, Na. Compound C on treatment with dil HCI gives
compound D of molecular formula C,H,0,. When D is heated with sodalime gives

compound E. Identify A,B,C,D & E. Write the corresponding equations.

Pt

\&



